



## Some Identities on $\lambda$ -Analogues of Lah Numbers and Lah-Bell Polynomials

Dae San Kim<sup>1</sup>, Taekyun Kim<sup>2,\*</sup>, Hyeakyung Kim<sup>3</sup>, Jongkyum Kwon<sup>4,\*</sup>

<sup>1</sup> Department of Mathematics, Sogang University, Seoul 121-742, Republic of Korea

<sup>2</sup> Department of Mathematics, Kwangwoon University, Seoul 139-701, Republic of Korea

<sup>3</sup> Department of Mathematics Education, Daegu Catholic University, Gyeongsan 38430, Republic of Korea

<sup>4</sup> Department of Mathematics Education, Gyeongsang National University, Jinju 52828, Republic of Korea

---

**Abstract.** In recent years, some applications of Lah numbers were discovered in the real world problem of telecommunications and optics. The aim of this paper is to study the  $\lambda$ -analogues of Lah numbers and Lah-Bell polynomials which are  $\lambda$ -analogues of the Lah numbers and Lah-Bell polynomials. Here we note that  $\lambda$ -analogues appear when we replace the falling factorials by the generalized falling factorials in the defining equations. By using generating function method, we study some properties, explicit expressions, generating functions and Dobinski-like formulas for those numbers and polynomials. We also treat the more general  $\lambda$ -analogues of  $r$ -Lah numbers and  $r$ -extended  $\lambda$ -Lah-Bell polynomials. In addition, we show that the expectations of two random variables, both associated with the Poisson random variable with parameter  $\frac{\alpha}{\lambda}$ , are equal to the  $\lambda$ -analogue of the Lah-Bell polynomial evaluated at  $\alpha$  for one and the  $r$ -extended  $\lambda$ -Lah-Bell polynomial evaluated at  $\alpha$  for the other.

**2020 Mathematics Subject Classifications:** 11B73, 11B83

**Key Words and Phrases:**  $\lambda$ -analogues of Lah numbers,  $\lambda$ -analogues of Lah-Bell polynomials,  $\lambda$ -analogues of Laguerre polynomials,  $\lambda$ -analogues of  $r$ -numbers,  $r$ -extended  $\lambda$ -Lah-Bell polynomials

---

### 1. Introduction

The unsigned Lah number  $L(n, k)$  counts the number of ways that a set of  $n$  elements can be partitioned into  $k$  non-empty linearly ordered subsets, while the Lah-Bell number  $B_n^L$  is the number of ways that a set of  $n$  elements can be partitioned into nonempty linearly ordered subsets. In recent years, some practical applications of the Lah numbers were found in telecommunications and optics. Indeed, Lah numbers have been used in

---

\*Corresponding author.

DOI: <https://doi.org/10.29020/nybg.ejpam.v17i3.5288>

Email addresses: [dskim@sogang.ac.kr](mailto:dskim@sogang.ac.kr) (D. S. Kim), [tkkim@kw.ac.kr](mailto:tkkim@kw.ac.kr) (T. Kim), [hkkim@cu.ac.kr](mailto:hkkim@cu.ac.kr) (H. Kim), [mathkjk26@gnu.ac.kr](mailto:mathkjk26@gnu.ac.kr) (J. Kwon)

steganography for hiding data in images (see [6]). It requires lower complexity of calculation, compared to alternatives DFT (discrete Fourier transform) and DWT (discrete wavelet transform). In addition, the Lah transform naturally arises in the perturbative description of the chromatic dispersion in optics (see [22,23]) and can tremendously speeds up optimization problems.

The study of degenerate versions of many special numbers and polynomials has been done in recent years by some mathematicians for their regained interests (see [2,9,15,16,21] and the references therein). A lot of fascinating results have been discovered. For example, the degenerate Stirling numbers of the first kind and the second kind, which are degenerate versions of the ordinary Stirling numbers of the first kind and the second kind respectively, occur very frequently when one studies degenerate versions of many special numbers and polynomials (see [2,9,15,16,21]). The  $\lambda$ - umbral calculus, which is more convenient when dealing with degenerate versions of Sheffer polynomials, has been uncovered as a natural degenerate version of the usual umbral calculus (see [13]). In addition, the degenerate gamma functions were found as a degenerate version of the ordinary gamma functions (see [14]).

The aim of this paper is to study the  $\lambda$ -analogues of Lah numbers  $L_\lambda(n, k)$  (see (14)) and Lah-Bell polynomials  $B_{n,\lambda}^L(x)$  (see (21), (23)) which are  $\lambda$ - analogues of the Lah numbers and Lah-Bell polynomials. We investigate some properties, explicit expressions, Dobinski-like formulas and generating functions for those numbers and polynomials. We also treat the more general  $\lambda$ -analogues of  $r$ -Lah numbers  $L_{r,\lambda}(n, k)$  (see (39)) and  $r$ -extended  $\lambda$ -Lah-Bell polynomials  $LB_{n,\lambda}^{(r)}(x)$  (see (45)). In addition, we show the expectation of one random variable and that of another random variable, both related to the Poisson random variable with parameter  $\frac{\alpha}{\lambda}$ , are respectively equal to  $B_{n,\lambda}^L(\alpha)$  and  $LB_{n,\lambda}^{(r)}(\alpha)$ . Here we note that the degenerate versions arise naturally when we replace the powers of  $x$  by the generalized falling factorial polynomials  $(x)_{k,\lambda}$  (see (1)) in the defining equations, while the  $\lambda$ -analogues appear when we replace the falling factorials  $(x)_k$  by the generalized falling factorials.

In more detail, the outline of this paper is as follows. In Section 1, we recall the generalized falling factorials  $(x)_{n,\lambda}$  and the generalized rising factorials  $\langle x \rangle_{n,\lambda}$ . We remind the reader of the unsigned Lah numbers  $L(n, k)$  and Lah-Bell numbers  $B_n^L$ . We recall the  $\lambda$ -analogues of the Stirling numbers of the first kind  $S_{1,\lambda}(n, k)$  and the second kind  $\left\{ \begin{matrix} n \\ k \end{matrix} \right\}_\lambda$ . We remind the reader of the unsigned  $\lambda$ -Stirling numbers of the first kind  $\left[ \begin{matrix} n \\ k \end{matrix} \right]_\lambda = (-1)^{n-k} S_{1,\lambda}(n, k)$ , the  $\lambda$ -analogues of  $r$ -Stirling numbers of the second  $\left\{ \begin{matrix} n+r \\ k+r \end{matrix} \right\}_{r,\lambda}$ , and the  $\lambda$ -Bell polynomials  $\phi_{n,\lambda}(x)$ . Section 2 is the main result of this paper. We define the  $\lambda$ -analogues of Lah numbers  $L_\lambda(n, k)$ , and express it as finite sums of products of  $\left[ \begin{matrix} n \\ k \end{matrix} \right]_\lambda$  and  $\left\{ \begin{matrix} n \\ k \end{matrix} \right\}_\lambda$  in Theorem 2.1. We define the  $\lambda$ -analogues of Lah-Bell polynomials  $B_{n,\lambda}^L(x)$  and numbers  $B_{n,\lambda}^L$ , and find explicit formulas for  $L_\lambda(n, k)$  in Theorem 2.2 and Dobinski-like formulas for  $B_{n,\lambda}^L(x)$  in Theorem 2.3. In Theorem 2.4,  $\phi_{n,\lambda}(x)$  is expressed as a finite sum involving  $B_{n,\lambda}^L(x)$  and  $\left\{ \begin{matrix} n \\ k \end{matrix} \right\}_\lambda$ . As an inversion of this, we also express  $B_{n,\lambda}^L(x)$  as a finite sum involving  $\phi_{n,\lambda}(x)$  and  $\left[ \begin{matrix} n \\ k \end{matrix} \right]_\lambda$ . We define the  $\lambda$ -analogues of Laguerre polynomials  $L_{n,\lambda}^{(\alpha)}(x)$  of

order  $\alpha$ . Then we show that the convolution of  $B_{n,\lambda}^L(x)$  and  $L_{n,\lambda}^{(\alpha)}(x)$  is equal to  $\langle \alpha + 1 \rangle_{n,\lambda}$ . We define the  $\lambda$ -analogues of  $r$ -Lah numbers  $L_{r,\lambda}(n, k)$ , and find for those numbers an explicit expression in Theorem 2.6 and a recurrence relation in Theorem 2.7. We define the  $r$ -extended  $\lambda$ -Lah-Bell polynomials  $LB_{n,\lambda}^{(r)}(x)$  and find a Dobinski-like formula for those polynomials in Theorem 2.8. In Theorem 2.9, we express  $\{_{k+r}^{n+r}\}_{r,\lambda}$  as a finite sum of the product of  $L_{r,\lambda}(n, k)$  and  $\{_m^n\}_{-\lambda}$ , and conversely  $L_{r,\lambda}(n, k)$  as a finite sum of the product of  $\{_{k+r}^{m+r}\}_{r,\lambda}$  and  $[\![_m^n]_\lambda$ . Let  $X$  be the Poisson distribution with parameter  $\frac{\alpha}{\lambda} > 0$ . Then, in Section 3, we show that the expectation of the random variable  $\langle X\lambda \rangle_{n,\lambda}$  is equal to  $B_{n,\lambda}^L(\alpha)$  and that of the random variable  $\langle X\lambda + r \rangle_{n,\lambda}$  is equal to  $LB_{n,\lambda}^{(r)}(\alpha)$ . In the rest of this section, we recall the facts that are needed throughout this paper.

For any nonzero  $\lambda \in \mathbb{R}$ , the generalized falling factorial sequence is given by

$$(x)_{0,\lambda} = 1, \quad (x)_{n,\lambda} = x(x-\lambda)(x-2\lambda) \cdots (x-(n-1)\lambda), \quad (n \geq 1), \quad (\text{see [1-5, 7-26]}). \quad (1)$$

Note that

$$\lim_{\lambda \rightarrow 1} (x)_{n,\lambda} = x(x-1)(x-2) \cdots (x-(n-1)) = (x)_n, \quad (n \geq 1).$$

The generalized rising factorial sequence is defined by

$$\langle x \rangle_{0,\lambda} = 1, \quad \langle x \rangle_{n,\lambda} = x(x+\lambda)(x+2\lambda) \cdots (x+(n-1)\lambda), \quad (n \geq 1).$$

Note that

$$\lim_{\lambda \rightarrow 1} \langle x \rangle_{n,\lambda} = x(x+1)(x+2) \cdots (x+(n-1)) = \langle x \rangle_n, \quad (n \geq 1).$$

For  $n \geq 0$ , the unsigned Lah numbers are defined by

$$\langle x \rangle_n = \sum_{k=0}^n L(n, k)(x)_k, \quad (\text{see [5, 12, 13, 26]}). \quad (2)$$

Note that  $L(n, k) = \frac{n!}{k!} \binom{n-1}{k-1}$ ,  $(n \geq k \geq 1)$ .

The Lah-Bell number  $B_n^L$  is defined by

$$B_n^L = \sum_{k=0}^n L(n, k), \quad (n \geq 0), \quad (\text{see [12, 13]}). \quad (3)$$

The  $\lambda$ -analogues of the Stirling numbers of the first kind are defined by

$$(x)_{n,\lambda} = \sum_{k=0}^n S_{1,\lambda}(n, k)x^k, \quad (n \geq 0). \quad (4)$$

From (4), we get

$$\frac{1}{\lambda^k} \frac{1}{k!} \left( \log(1 + \lambda t) \right)^k = \sum_{n=k}^{\infty} S_{1,\lambda}(n, k) \frac{t^n}{n!}, \quad (k \geq 0). \tag{5}$$

Note that  $\lim_{\lambda \rightarrow 1} S_{1,\lambda}(n, k) = S_1(n, k)$  are the ordinary Stirling numbers of the first kind given by

$$(x)_n = \sum_{k=0}^n S_1(n, k) x^k, \quad (\text{see } [1 - 5, 7 - 13, 15 - 21, 24 - 26]). \tag{6}$$

The unsinged  $\lambda$ -Stirling numbers of the first kind are given by

$$(-1)^{n-k} S_{1,\lambda}(n, k) = \left[ \begin{matrix} n \\ k \end{matrix} \right]_{\lambda}, \quad (n, k \geq 0),$$

and hence we see from (4) and (5) that

$$\langle x \rangle_{n,\lambda} = \sum_{k=0}^n \left[ \begin{matrix} n \\ k \end{matrix} \right]_{\lambda} x^k, \quad (n \geq 0), \quad \frac{1}{\lambda^k} \frac{1}{k!} \left( -\log(1 - \lambda t) \right)^k = \sum_{n=k}^{\infty} \left[ \begin{matrix} n \\ k \end{matrix} \right]_{\lambda} \frac{t^n}{n!}, \quad (k \geq 0). \tag{7}$$

The  $\lambda$ -analogues of Stirling numbers of the second kind are defined by

$$x^n = \sum_{k=0}^n \left\{ \begin{matrix} n \\ k \end{matrix} \right\}_{\lambda} (x)_{k,\lambda}, \quad (n \geq 0), \quad (\text{see } [10]). \tag{8}$$

From (8), we have

$$\frac{1}{\lambda^k} \frac{1}{k!} \left( e^{\lambda t} - 1 \right)^k = \sum_{n=k}^{\infty} \left\{ \begin{matrix} n \\ k \end{matrix} \right\}_{\lambda} \frac{t^n}{n!}, \quad (\text{see } [10]). \tag{9}$$

Note that  $\lim_{\lambda \rightarrow 1} \left\{ \begin{matrix} n \\ k \end{matrix} \right\}_{\lambda} = \left\{ \begin{matrix} n \\ k \end{matrix} \right\}$  are the ordinary Stirling numbers of the second kind defined by

$$x^n = \sum_{k=0}^n \left\{ \begin{matrix} n \\ k \end{matrix} \right\} (x)_k, \quad (n \geq 0), \quad (\text{see } [1 - 5, 7 - 13, 15 - 32]).$$

For  $r \in \mathbb{N} \cup \{0\}$ , the  $\lambda$ -analogues of  $r$ -Stirling numbers of the second kind are given by

$$(x + r)^n = \sum_{k=0}^n \left\{ \begin{matrix} n + r \\ k + r \end{matrix} \right\}_{r,\lambda} (x)_{k,\lambda}, \quad (n \geq 0), \quad (\text{see } [10, 11, 15]). \tag{10}$$

Thus, by (10), we get

$$\frac{1}{\lambda^k} \frac{1}{k!} \left( e^{\lambda t} - 1 \right)^k e^{rt} = \sum_{n=k}^{\infty} \left\{ \begin{matrix} n + r \\ k + r \end{matrix} \right\}_{r,\lambda} \frac{t^n}{n!}, \quad (k \geq 0), \quad (\text{see } [10, 11]). \tag{11}$$

The  $\lambda$ -Bell polynomials are given by

$$e^{\frac{x}{\lambda}(e^{\lambda t}-1)} = \sum_{n=0}^{\infty} \phi_{n,\lambda}(x) \frac{t^n}{n!}, \quad (\text{see [10]}). \tag{12}$$

Note that

$$\lim_{\lambda \rightarrow 1} \phi_{n,\lambda}(x) = \phi_n(x) = \sum_{k=0}^n \left\{ \begin{matrix} n \\ k \end{matrix} \right\} x^k$$

are the ordinary Bell polynomials.

Here we note that

$$\phi_{n,\lambda}(x) = \lambda^n e^{-\frac{x}{\lambda}} \sum_{k=0}^{\infty} \frac{k^n}{k!} \left(\frac{x}{\lambda}\right)^k, \quad \phi_n(x) = e^{-x} \sum_{k=0}^{\infty} \frac{k^n}{k!} x^k, \quad \phi_{n,\lambda}(x) = \lambda^n \phi_n\left(\frac{x}{\lambda}\right). \tag{13}$$

From (9) and (12), we have

$$\phi_{n,\lambda}(x) = \sum_{k=0}^n \left\{ \begin{matrix} n \\ k \end{matrix} \right\}_{\lambda} x^k.$$

In particular, for  $x = 1$ ,  $\phi_{n,\lambda} = \phi_{n,\lambda}(1)$  are called the  $\lambda$ -Bell numbers.

## 2. Identities on $\lambda$ -analogues of Lah numbers and Lah-Bell polynomials

In view of (2), we consider the  $\lambda$ -analogues of Lah numbers defined by

$$\langle x \rangle_{n,\lambda} = \sum_{k=0}^n L_{\lambda}(n, k)(x)_{k,\lambda}, \quad (n \geq 0). \tag{14}$$

From (2), we note that  $\lim_{\lambda \rightarrow 1} L_{\lambda}(n, k) = L(n, k)$ ,  $(n, k \geq 0)$ .

By (14), we get

$$\begin{aligned} \sum_{k=0}^n L_{\lambda}(n, k)(x)_{k,\lambda} &= \langle x \rangle_{n,\lambda} = \sum_{j=0}^n \left[ \begin{matrix} n \\ j \end{matrix} \right]_{\lambda} x^j = \sum_{j=0}^n \left[ \begin{matrix} n \\ j \end{matrix} \right]_{\lambda} \sum_{k=0}^j \left\{ \begin{matrix} j \\ k \end{matrix} \right\}_{\lambda} (x)_{k,\lambda} \\ &= \sum_{k=0}^n \left( \sum_{j=k}^n \left[ \begin{matrix} n \\ j \end{matrix} \right]_{\lambda} \left\{ \begin{matrix} j \\ k \end{matrix} \right\}_{\lambda} \right) (x)_{k,\lambda}. \end{aligned} \tag{15}$$

**Theorem 1.** For  $n, k \geq 0$ , we have

$$L_{\lambda}(n, k) = \sum_{j=k}^n \left[ \begin{matrix} n \\ j \end{matrix} \right]_{\lambda} \left\{ \begin{matrix} j \\ k \end{matrix} \right\}_{\lambda}.$$

We note from (14) that

$$\begin{aligned} (x)_{n,\lambda} &= (-1)^n \langle -x \rangle_{n,\lambda} = (-1)^n \sum_{k=0}^n L_\lambda(n, k) (-x)_{k,\lambda} \\ &= \sum_{k=0}^n (-1)^{n-k} L_\lambda(n, k) \langle x \rangle_{k,\lambda}. \end{aligned}$$

For any nonzero  $\lambda \in \mathbb{R}$ , the  $\lambda$ -exponentials are defined by

$$e_\lambda^x(t) = (1 + \lambda t)^{\frac{x}{\lambda}} = \sum_{k=0}^{\infty} \frac{(x)_{k,\lambda}}{k!} t^k, \quad (\text{see [11, 15 – 22]}). \tag{16}$$

From (16), we have

$$\begin{aligned} e_\lambda^{-x}(-t) &= \sum_{n=0}^{\infty} (-x)_{n,\lambda} \frac{(-t)^n}{n!} = \sum_{n=0}^{\infty} \langle x \rangle_{n,\lambda} \frac{t^n}{n!} \\ &= \sum_{n=0}^{\infty} \left( \sum_{k=0}^n L_\lambda(n, k) (x)_{k,\lambda} \right) \frac{t^n}{n!} \\ &= \sum_{k=0}^{\infty} \left( \sum_{n=k}^{\infty} L_\lambda(n, k) \frac{t^n}{n!} \right) (x)_{k,\lambda}. \end{aligned} \tag{17}$$

On the other hand, by (16), we get

$$\begin{aligned} e_\lambda^{-x}(-t) &= (1 - \lambda t)^{-\frac{x}{\lambda}} = \left( \frac{1}{1 - \lambda t} \right)^{\frac{x}{\lambda}} = \left( 1 + \frac{\lambda t}{1 - \lambda t} \right)^{\frac{x}{\lambda}} \\ &= \sum_{k=0}^{\infty} \frac{1}{k!} \left( \frac{t}{1 - \lambda t} \right)^k (x)_{k,\lambda}. \end{aligned} \tag{18}$$

By (17) and (18), we get

$$\frac{1}{k!} \left( \frac{t}{1 - \lambda t} \right)^k = \frac{1}{\lambda^k} \frac{1}{k!} \left( \frac{1}{1 - \lambda t} - 1 \right)^k = \sum_{n=k}^{\infty} L_\lambda(n, k) \frac{t^n}{n!}, \quad (k \geq 0). \tag{19}$$

The left hand side of (19) can be written as

$$\begin{aligned} \frac{1}{k!} \left( \frac{t}{1 - \lambda t} \right)^k &= \frac{1}{\lambda^k} \frac{1}{k!} \sum_{l=0}^k \binom{k}{l} (-1)^{k-l} (1 - \lambda t)^{-\frac{\lambda l}{\lambda}} \\ &= \sum_{n=0}^{\infty} \left( \frac{1}{\lambda^k} \frac{1}{k!} \sum_{l=0}^k \binom{k}{l} (-1)^{k-l} \langle \lambda l \rangle_{n,\lambda} \right) \frac{t^n}{n!}. \end{aligned} \tag{20}$$

Therefore, by (19) and (20), we obtain the following theorem.

**Theorem 2.** For  $n, k \geq 0$ , with  $n \geq k$ , we have

$$L_\lambda(n, k) = \frac{1}{\lambda^k} \frac{1}{k!} \sum_{l=0}^k \binom{k}{l} (-1)^{k-l} \langle \lambda l \rangle_{n, \lambda}.$$

Note that

$$L(n, k) = \lim_{\lambda \rightarrow 1} L_\lambda(n, k) = \frac{1}{k!} \sum_{l=0}^k \binom{k}{l} (-1)^{k-l} \langle l \rangle_n.$$

In view of (3), we define the  $\lambda$ -analogues of Lah-Bell numbers as

$$B_{n, \lambda}^L = \sum_{k=0}^n L_\lambda(n, k), \quad (n \geq 0). \tag{21}$$

From (19) and (21), we can easily derive the following equation:

$$e^{\frac{t}{1-\lambda t}} = \sum_{n=0}^{\infty} B_{n, \lambda}^L \frac{t^n}{n!}. \tag{22}$$

Now, we define the  $\lambda$ -analogues of Lah-Bell polynomials as

$$B_{n, \lambda}^L(x) = \sum_{k=0}^n L_\lambda(n, k) x^k, \quad (n \geq 0). \tag{23}$$

Note that  $B_{n, \lambda}^L(1) = B_{n, \lambda}^L$ , ( $n \geq 0$ ). By (22) and (23), we get

$$e^{\frac{x}{\lambda}(\frac{1}{1-\lambda t}-1)} = \sum_{n=0}^{\infty} B_{n, \lambda}^L(x) \frac{t^n}{n!}. \tag{24}$$

From (24), we have

$$\begin{aligned} e^{\frac{x}{\lambda}(\frac{1}{1-\lambda t}-1)} &= e^{-\frac{x}{\lambda}} e^{\frac{x}{\lambda}(\frac{1}{1-\lambda t})} = e^{-\frac{x}{\lambda}} \sum_{k=0}^{\infty} \frac{x^k}{k!} \frac{1}{\lambda^k} \left(\frac{1}{1-\lambda t}\right)^k \\ &= e^{-\frac{x}{\lambda}} \sum_{k=0}^{\infty} \frac{x^k}{\lambda^k k!} \sum_{n=0}^{\infty} \langle \lambda k \rangle_{n, \lambda} \frac{t^n}{n!} \\ &= e^{-\frac{x}{\lambda}} \sum_{n=0}^{\infty} \left( \sum_{k=0}^{\infty} \frac{1}{\lambda^k k!} \langle \lambda k \rangle_{n, \lambda} x^k \right) \frac{t^n}{n!}. \end{aligned} \tag{25}$$

Therefore, by comparing the coefficients on both sides of (25), we obtain the following theorem.

**Theorem 3.** For  $n \geq 0$ , we have

$$B_{n, \lambda}^L(x) = e^{-\frac{x}{\lambda}} \sum_{k=0}^{\infty} \frac{1}{\lambda^k} \frac{\langle \lambda k \rangle_{n, \lambda}}{k!} x^k.$$

We observe that

$$B_n^L(x) = \lim_{\lambda \rightarrow 1} B_{n,\lambda}^L(x) = e^{-x} \sum_{k=0}^{\infty} \frac{\langle k \rangle_n}{k!} x^k,$$

where  $B_n^L(x)$  are the ordinary Lah-Bell polynomials given by

$$B_n^L(x) = \sum_{k=0}^n L(n, k)x^k, \quad (n \geq 0).$$

Replacing  $t$  by  $\frac{1}{\lambda}(1 - e^{-\lambda t})$  in (24) and from (9), we get

$$\begin{aligned} e^{\frac{x}{\lambda}(e^{\lambda t}-1)} &= \sum_{k=0}^{\infty} B_{k,\lambda}^L(x) \frac{1}{k!} \frac{1}{\lambda^k} (1 - e^{-\lambda t})^k \\ &= \sum_{k=0}^{\infty} B_{k,\lambda}^L(x) \sum_{n=k}^{\infty} \left\{ \begin{matrix} n \\ k \end{matrix} \right\}_{\lambda} (-1)^{n-k} \frac{t^n}{n!} \\ &= \sum_{n=0}^{\infty} \left( \sum_{k=0}^n (-1)^{n-k} B_{k,\lambda}^L(x) \left\{ \begin{matrix} n \\ k \end{matrix} \right\}_{\lambda} \right) \frac{t^n}{n!}. \end{aligned} \tag{26}$$

From (12) and (26), we have

$$\phi_{n,\lambda}(x) = \sum_{k=0}^n (-1)^{n-k} \left\{ \begin{matrix} n \\ k \end{matrix} \right\}_{\lambda} B_{k,\lambda}^L(x). \tag{27}$$

Replacing  $t$  by  $\frac{1}{\lambda} \log \left( \frac{1}{1-\lambda t} \right)$  in (12) and from (7), we get

$$\begin{aligned} e^{\frac{x}{\lambda} \left( \frac{1}{1-\lambda t} - 1 \right)} &= \sum_{k=0}^{\infty} \phi_{k,\lambda}(x) \frac{1}{k!} \left( \frac{1}{\lambda} \log \left( \frac{1}{1-\lambda t} \right) \right)^k \\ &= \sum_{k=0}^{\infty} \phi_{k,\lambda}(x) (-1)^k \frac{1}{k!} \left( \frac{\log(1-\lambda t)}{\lambda} \right)^k \\ &= \sum_{k=0}^{\infty} \phi_{k,\lambda}(x) \sum_{n=k}^{\infty} \left[ \begin{matrix} n \\ k \end{matrix} \right]_{\lambda} \frac{t^n}{n!} \\ &= \sum_{n=0}^{\infty} \left( \sum_{k=0}^n \phi_{k,\lambda}(x) \left[ \begin{matrix} n \\ k \end{matrix} \right]_{\lambda} \right) \frac{t^n}{n!}. \end{aligned} \tag{28}$$

Thus, by (24) and (28), we get

$$B_{n,\lambda}^L(x) = \sum_{k=0}^n \phi_{k,\lambda}(x) \left[ \begin{matrix} n \\ k \end{matrix} \right]_{\lambda}, \quad (n \geq 0). \tag{29}$$

Therefore, by (27) and (29), we obtain the following theorem.



**Theorem 4.** For  $n \geq 0$ , we have

$$\phi_{n,\lambda}(x) = \sum_{k=0}^n (-1)^{n-k} \left\{ \begin{matrix} n \\ k \end{matrix} \right\}_\lambda B_{n,\lambda}^L(x), \quad \text{and} \quad B_{n,\lambda}^L(x) = \sum_{k=0}^n \left[ \begin{matrix} n \\ k \end{matrix} \right]_\lambda \phi_{n,\lambda}(x).$$

It is well known that the Laguerre polynomials  $L_n^{(\alpha)}(x)$  of order  $\alpha$ , ( $\alpha > -1$ ), are given by

$$(1-t)^{-\alpha-1} e^{x(\frac{t}{1-t})} = \sum_{n=0}^{\infty} L_n^{(\alpha)}(x) \frac{t^n}{n!}. \tag{30}$$

Now, we consider the  $\lambda$ -analogues of Laguerre polynomials  $L_{n,\lambda}^{(\alpha)}(x)$  of order  $\alpha$ , ( $\alpha > -1$ ), which are given by

$$(1-\lambda t)^{-\frac{\alpha+1}{\lambda}} e^{x(\frac{t}{\lambda t-1})} = \sum_{n=0}^{\infty} L_{n,\lambda}^{(\alpha)}(x) \frac{t^n}{n!}. \tag{31}$$

Note that

$$\lim_{\lambda \rightarrow 1} L_{n,\lambda}^{(\alpha)}(x) = L_n^{(\alpha)}(x), \quad (n \geq 0).$$

From (31), we have

$$\begin{aligned} (1-\lambda t)^{-\frac{\alpha+1}{\lambda}} &= e^{x(\frac{t}{1-\lambda t})} \sum_{k=0}^{\infty} L_{k,\lambda}^{(\alpha)}(x) \frac{t^k}{k!} \\ &= \sum_{m=0}^{\infty} B_{m,\lambda}^L(x) \frac{t^m}{m!} \sum_{k=0}^{\infty} L_{k,\lambda}^{(\alpha)}(x) \frac{t^k}{k!} \\ &= \sum_{n=0}^{\infty} \left( \sum_{m=0}^n \binom{n}{m} B_{m,\lambda}^L(x) L_{n-m,\lambda}^{(\alpha)}(x) \right) \frac{t^n}{n!}. \end{aligned} \tag{32}$$

On the other hand, by binomial expansion, we get

$$(1-\lambda t)^{-\frac{\alpha+1}{\lambda}} = \sum_{n=0}^{\infty} \langle \alpha + 1 \rangle_{n,\lambda} \frac{t^n}{n!}. \tag{33}$$

Therefore, by (32) and (33), we obtain the following theorem.

**Theorem 5.** For  $n \geq 0$ , we have

$$\langle \alpha + 1 \rangle_{n,\lambda} = \sum_{m=0}^n \binom{n}{m} B_{m,\lambda}^L(x) L_{n-m,\lambda}^{(\alpha)}(x). \tag{34}$$

We observe that

$$\langle \alpha + 1 \rangle_{n,\lambda} = \sum_{k=0}^n L_\lambda(n, k) (\alpha + 1)_{k,\lambda} = \sum_{k=0}^n L_\lambda(n, k) \sum_{j=0}^k \binom{k}{j} (\alpha)_{j,\lambda} (1)_{k-j,\lambda} \tag{35}$$

$$= \sum_{j=0}^n \sum_{k=j}^n \binom{k}{j} L_\lambda(n, k)(\alpha)_{j,\lambda}(1)_{k-j,\lambda}.$$

Hence, by (34) and (35), we get

$$\sum_{m=0}^n \sum_{k=m}^n \binom{k}{m} L_\lambda(n, k)(\alpha)_{m,\lambda}(1)_{k-m,\lambda} = \sum_{m=0}^n \binom{n}{m} B_{m,\lambda}^L(x) L_{n-m,\lambda}^{(\alpha)}(x). \tag{36}$$

Now, we consider the *bivariate  $\lambda$ -Lah-Bell polynomials* given by

$$\left(1 + y \frac{t}{1 - \lambda t}\right)^x = \sum_{n=0}^{\infty} B_{n,\lambda}^L(x, y) \frac{t^n}{n!}. \tag{37}$$

Thus, by (37) and (19), we get

$$\begin{aligned} \left(1 + y \frac{t}{1 - \lambda t}\right)^x &= \sum_{k=0}^{\infty} \binom{x}{k} y^k \left(\frac{t}{1 - \lambda t}\right)^k = \sum_{k=0}^{\infty} (x)_k y^k \frac{1}{k!} \left(\frac{t}{1 - \lambda t}\right)^k \\ &= \sum_{k=0}^{\infty} (x)_k y^k \sum_{n=k}^{\infty} L_\lambda(n, k) \frac{t^n}{n!} = \sum_{n=0}^{\infty} \left(\sum_{k=0}^n L_\lambda(n, k)(x)_k y^k\right) \frac{t^n}{n!}. \end{aligned} \tag{38}$$

By (37) and (38), we get

$$B_{n,\lambda}^L(x, y) = \sum_{k=0}^n L_\lambda(n, k)(x)_k y^k, \quad (n \geq 0).$$

Replacing  $y$  by  $\frac{y}{x}$  and letting  $x \rightarrow \infty$ , we see that  $B_{n,\lambda}^L(y) = \lim_{x \rightarrow \infty} B_{n,\lambda}^L(x, \frac{y}{x})$ . For  $r \in \mathbb{N} \cup \{0\}$ , we define the  $\lambda$ -analogues of  $r$ -Lah numbers by

$$\langle x + r \rangle_{n,\lambda} = \sum_{k=0}^n L_{r,\lambda}(n, k)(x)_{k,\lambda}, \quad (n \geq 0). \tag{39}$$

From (39), we note that

$$\begin{aligned} e_\lambda^{-(x+r)}(-t) &= \sum_{n=0}^{\infty} \langle x + r \rangle_{n,\lambda} \frac{t^n}{n!} = \sum_{n=0}^{\infty} \left(\sum_{k=0}^n L_{r,\lambda}(n, k)(x)_{k,\lambda}\right) \frac{t^n}{n!} \\ &= \sum_{k=0}^{\infty} \left(\sum_{n=k}^{\infty} L_{r,\lambda}(n, k) \frac{t^n}{n!}\right) (x)_{k,\lambda}. \end{aligned} \tag{40}$$

On the other hand, by binomial expansion, we get

$$e_\lambda^{-(x+r)}(-t) = \left(\frac{1}{1 - \lambda t}\right)^{\frac{r}{\lambda}} (1 - \lambda t)^{-\frac{x}{\lambda}} = \left(\frac{1}{1 - \lambda t}\right)^{\frac{r}{\lambda}} \left(1 + \frac{\lambda t}{1 - \lambda t}\right)^{\frac{x}{\lambda}} \tag{41}$$

$$= \sum_{k=0}^{\infty} \frac{1}{k!} \left(\frac{t}{1-\lambda t}\right)^k \left(\frac{1}{1-\lambda t}\right)^{\frac{r}{\lambda}} (x)_{k,\lambda}.$$

By (40) and (41), we get

$$\frac{1}{k!} \left(\frac{t}{1-\lambda t}\right)^k \left(\frac{1}{1-\lambda t}\right)^{\frac{r}{\lambda}} = \sum_{n=k}^{\infty} L_{r,\lambda}(n, k) \frac{t^n}{n!}, \quad (k \geq 0). \tag{42}$$

The left hand side of (42) can be written as

$$\begin{aligned} \frac{1}{k!} \left(\frac{t}{1-\lambda t}\right)^k \left(\frac{1}{1-\lambda t}\right)^{\frac{r}{\lambda}} &= \frac{1}{\lambda^k} \frac{1}{k!} \left(\frac{1}{1-\lambda t} - 1\right)^k \left(\frac{1}{1-\lambda t}\right)^{\frac{r}{\lambda}} \\ &= \sum_{l=0}^k \binom{k}{l} (-1)^{k-l} \frac{1}{\lambda^k} \frac{1}{k!} \left(\frac{1}{1-\lambda t}\right)^{\frac{r+l\lambda}{\lambda}} \\ &= \sum_{l=0}^k \binom{k}{l} (-1)^{k-l} \frac{1}{\lambda^k k!} \sum_{n=0}^{\infty} \langle r+l\lambda \rangle_{n,\lambda} \frac{t^n}{n!} \\ &= \sum_{n=0}^{\infty} \left(\frac{1}{\lambda^k k!} \sum_{l=0}^k \binom{k}{l} (-1)^{k-l} \langle r+l\lambda \rangle_{n,\lambda}\right) \frac{t^n}{n!}. \end{aligned} \tag{43}$$

Therefore, by (42) and (43), we obtain the following theorem.

**Theorem 6.** For  $n, k \geq 0$ , with  $n \geq k$ , we have

$$L_{r,\lambda}(n, k) = \frac{1}{\lambda^k} \frac{1}{k!} \sum_{l=0}^k \binom{k}{l} (-1)^{k-l} \langle r+l\lambda \rangle_{n,\lambda}.$$

From (39), we note that

$$\begin{aligned} \sum_{k=0}^{n+1} L_{r,\lambda}(n+1, k)(x)_{k,\lambda} &= \langle x+r \rangle_{n+1,\lambda} = \langle x+r \rangle_{n,\lambda}(x+r+n\lambda) \\ &= \sum_{k=0}^n L_{r,\lambda}(x)_{k,\lambda}(x-k\lambda+r+(n+k)\lambda) \\ &= \sum_{k=0}^n L_{r,\lambda}(n, k)(x)_{k+1,\lambda} + \sum_{k=0}^n L_{r,\lambda}(n, k)(r+(n+k)\lambda)(x)_{k,\lambda} \\ &= \sum_{k=0}^{n+1} \left( L_{r,\lambda}(n, k-1) + (r+(n+k)\lambda)L_{r,\lambda}(n, k) \right) (x)_{k,\lambda}. \end{aligned} \tag{44}$$

Comparing the coefficients on both sides of (44), we obtain the following theorem.

**Theorem 7.** For  $n, k \in \mathbb{N}$ , with  $n \geq k$ , we have

$$L_{r,\lambda}(n + 1, k) = L_{r,\lambda}(n, k - 1) + (r + (n + k)\lambda)L_{r,\lambda}(n, k).$$

Now, we consider the  $r$ -extended  $\lambda$ -Lah-Bell polynomials defined by

$$LB_{n,\lambda}^{(r)}(x) = \sum_{k=0}^n L_{r,\lambda}(n, k)x^k, \quad (n \geq 0). \tag{45}$$

Thus, by (42) and (45), we easily get

$$e^{\frac{x}{\lambda}(\frac{1}{1-\lambda t}-1)} \left(\frac{1}{1-\lambda t}\right)^{\frac{r}{\lambda}} = \sum_{n=0}^{\infty} LB_{n,\lambda}^{(r)}(x) \frac{t^n}{n!}. \tag{46}$$

In particular, for  $x = 1$ ,  $LB_{n,\lambda}^{(r)} = LB_{n,\lambda}^{(r)}(1)$  are called the  $r$ -extended  $\lambda$ -Lah-Bell numbers. The left hand side of (46) can be written as

$$\begin{aligned} e^{\frac{x}{\lambda}(\frac{1}{1-\lambda t}-1)} \left(\frac{1}{1-\lambda t}\right)^{\frac{r}{\lambda}} &= e^{-\frac{x}{\lambda}} \sum_{k=0}^{\infty} \frac{x^k}{\lambda^k k!} \left(\frac{1}{1-\lambda t}\right)^{\frac{\lambda k+r}{\lambda}} \\ &= e^{-\frac{x}{\lambda}} \sum_{k=0}^{\infty} \frac{x^k}{\lambda^k k!} \sum_{n=0}^{\infty} \langle \lambda k + r \rangle_{n,\lambda} \frac{t^n}{n!} \\ &= \sum_{n=0}^{\infty} \left( e^{-\frac{x}{\lambda}} \sum_{k=0}^{\infty} \frac{\langle \lambda k + r \rangle_{n,\lambda}}{\lambda^k k!} x^k \right) \frac{t^n}{n!}. \end{aligned} \tag{47}$$

Therefore, by (46) and (47), we obtain the following theorem.

**Theorem 8.** For  $n \geq 0$ , we have

$$LB_{n,\lambda}^{(r)}(x) = e^{-\frac{x}{\lambda}} \sum_{k=0}^{\infty} \frac{\langle \lambda k + r \rangle_{n,\lambda}}{k! \lambda^k} x^k.$$

For  $r \geq 0$ , the  $\lambda$ -analogues of  $r$ -Stirling numbers of the second kind are defined by

$$\sum_{n=k}^{\infty} \left\{ \begin{matrix} n+r \\ k+r \end{matrix} \right\}_{r,\lambda} \frac{t^n}{n!} = \frac{1}{\lambda^k} \frac{1}{k!} (e^{\lambda t} - 1)^k e^{rt}, \quad (k \geq 0), \quad (\text{see [13]}). \tag{48}$$

Replacing  $t$  by  $\frac{1}{\lambda}(1 - e^{-\lambda t})$  in (42) and using (9), we get

$$\begin{aligned} \frac{1}{k!} \frac{1}{\lambda^k} (e^{\lambda t} - 1)^k e^{rt} &= \sum_{m=k}^{\infty} L_{r,\lambda}(m, k) \frac{1}{m!} \left(\frac{e^{-\lambda t} - 1}{-\lambda}\right)^m \\ &= \sum_{m=k}^{\infty} L_{r,\lambda}(m, k) \sum_{n=m}^{\infty} \left\{ \begin{matrix} n \\ m \end{matrix} \right\}_{-\lambda} \frac{t^n}{n!} \end{aligned} \tag{49}$$

$$= \sum_{n=k}^{\infty} \left( \sum_{m=k}^n L_{r,\lambda}(m, k) \left\{ \begin{matrix} n \\ m \end{matrix} \right\}_{-\lambda} \right) \frac{t^n}{n!}.$$

Thus, by (48) and (49), we have

$$\left\{ \begin{matrix} n+r \\ k+r \end{matrix} \right\}_{r,\lambda} = \sum_{m=k}^n L_{r,\lambda}(m, k) \left\{ \begin{matrix} n \\ m \end{matrix} \right\}_{-\lambda}, \quad (k \geq 0). \tag{50}$$

Replacing  $t$  by  $\frac{1}{\lambda} \log \left( \frac{1}{1-\lambda t} \right)$  in (48) and using (7), we see that

$$\begin{aligned} \frac{1}{\lambda^k} \frac{1}{k!} \left( \frac{1}{1-\lambda t} - 1 \right)^k \left( \frac{1}{1-\lambda t} \right)^{\frac{r}{\lambda}} &= \sum_{m=k}^{\infty} \left\{ \begin{matrix} m+r \\ k+r \end{matrix} \right\}_{r,\lambda} \frac{1}{m!} \left( \frac{1}{\lambda} \log \left( \frac{1}{1-\lambda t} \right) \right)^m \\ &= \sum_{m=k}^{\infty} \left\{ \begin{matrix} m+r \\ k+r \end{matrix} \right\}_{r,\lambda} \sum_{n=m}^{\infty} \left[ \begin{matrix} n \\ m \end{matrix} \right]_{\lambda} \frac{t^n}{n!} \\ &= \sum_{n=k}^{\infty} \left( \sum_{m=k}^n \left\{ \begin{matrix} m+r \\ k+r \end{matrix} \right\}_{r,\lambda} \left[ \begin{matrix} n \\ m \end{matrix} \right]_{\lambda} \right) \frac{t^n}{n!}. \end{aligned} \tag{51}$$

By (42) and (51), we get

$$L_{r,\lambda}(n, k) = \sum_{m=k}^n \left\{ \begin{matrix} m+r \\ k+r \end{matrix} \right\}_{r,\lambda} \left[ \begin{matrix} n \\ m \end{matrix} \right]_{\lambda}, \quad (k \geq 0). \tag{52}$$

Therefore, by (50) and (52), we obtain the following theorem.

**Theorem 9.** For  $n, k \geq 0$  with  $n \geq k$ , we have

$$\left\{ \begin{matrix} n+r \\ k+r \end{matrix} \right\}_{r,\lambda} = \sum_{m=k}^n L_{r,\lambda}(n, k) \left\{ \begin{matrix} n \\ m \end{matrix} \right\}_{-\lambda},$$

and

$$L_{r,\lambda}(n, k) = \sum_{m=k}^n \left\{ \begin{matrix} m+r \\ k+r \end{matrix} \right\}_{r,\lambda} \left[ \begin{matrix} n \\ m \end{matrix} \right]_{\lambda}.$$

### 3. Further Remarks

A Poisson random variable indicates how many events occurred within a given period of time. A random variable  $X$ , taking on one of the variables  $0, 1, 2, \dots$ , is said to be the Poisson random variable with parameter  $\alpha > 0$  if the probability mass function of  $X$  is given by

$$p(i) = P\{X = i\} = e^{-\alpha} \frac{\alpha^i}{i!}, \quad (\text{see [16, 25]}). \tag{53}$$

Let  $f$  be a real valued function, and let  $X$  be a random variable. Then we define

$$E[f(X)] = \sum_{i=0}^{\infty} f(i)p(i), \quad (\text{see [25]}). \tag{54}$$

For  $\lambda \in \mathbb{R}$  with  $0 < \lambda < 1$ , assume that  $X$  is the Poisson random variable with parameter  $\frac{\alpha}{\lambda} (> 0)$ . Then we note from (54) that

$$\begin{aligned} E\left[\left(\frac{1}{1-\lambda t}\right)^X\right] &= \sum_{i=0}^{\infty} \left(\frac{1}{1-\lambda t}\right)^i p(i) \\ &= \sum_{i=0}^{\infty} \left(\frac{1}{1-\lambda t}\right)^i \frac{1}{i!} \left(\frac{\alpha}{\lambda}\right)^i e^{-\frac{\alpha}{\lambda}} = e^{\frac{1}{\lambda} \frac{\alpha}{1-\lambda t}} e^{-\frac{\alpha}{\lambda}} \\ &= e^{\frac{\alpha}{\lambda} \left(\frac{1}{1-\lambda t} - 1\right)} = \sum_{n=0}^{\infty} B_{n,\lambda}^L(\alpha) \frac{t^n}{n!}. \end{aligned} \tag{55}$$

On the other hand, by binomial expansion, we get

$$E\left[\left(\frac{1}{1-\lambda t}\right)^X\right] = E\left[\left(\frac{1}{1-\lambda t}\right)^{\frac{\lambda X}{\lambda}}\right] = \sum_{n=0}^{\infty} E[\langle X\lambda \rangle_{n,\lambda}] \frac{t^n}{n!}. \tag{56}$$

Hence, by (55) and (56), we get

$$E[\langle X\lambda \rangle_{n,\lambda}] = B_{n,\lambda}^L(\alpha), \quad (n \geq 0). \tag{57}$$

For  $r \geq 0$ , from (46) and (55), we observe that

$$\begin{aligned} E\left[\left(\frac{1}{1-\lambda t}\right)^{X+\frac{r}{\lambda}}\right] &= E\left[\left(\frac{1}{1-\lambda t}\right)^X\right] \left(\frac{1}{1-\lambda t}\right)^{\frac{r}{\lambda}} \\ &= e^{\frac{\alpha}{\lambda} \left(\frac{1}{1-\lambda t} - 1\right)} \left(\frac{1}{1-\lambda t}\right)^{\frac{r}{\lambda}} = \sum_{n=0}^{\infty} LB_{n,\lambda}^{(r)}(\alpha) \frac{t^n}{n!}. \end{aligned} \tag{58}$$

On the other hand, by binomial expansion, we get

$$E\left[\left(\frac{1}{1-\lambda t}\right)^{X+\frac{r}{\lambda}}\right] = E\left[\left(\frac{1}{1-\lambda t}\right)^{\frac{\lambda X+r}{\lambda}}\right] = \sum_{n=0}^{\infty} E[\langle \lambda X + r \rangle_{n,\lambda}] \frac{t^n}{n!}. \tag{59}$$

Thus, by (58) and (59), we get

$$LB_{n,\lambda}^{(r)}(\alpha) = E[\langle \lambda X + r \rangle_{n,\lambda}], \quad (n \geq 0). \tag{60}$$

From (4), (39), and (60), we note that

$$LB_{n,\lambda}^{(r)}(\alpha) = E[\langle \lambda X + r \rangle_{n,\lambda}] = \sum_{k=0}^n L_{r,\lambda}(n, k) E[(\lambda X)_{k,\lambda}]. \tag{61}$$

$$= \sum_{k=0}^n L_{r,\lambda}(n, k) \sum_{j=0}^k S_{1,\lambda}(k, j) \lambda^j E[X^j].$$

From (13), we have

$$\begin{aligned} E[X^j] &= \sum_{k=0}^{\infty} k^j p(k) = \sum_{k=0}^{\infty} \frac{(\frac{\alpha}{\lambda})^k}{k!} e^{-\frac{\alpha}{\lambda}} k^j \\ &= e^{-\frac{\alpha}{\lambda}} \sum_{k=0}^{\infty} \frac{k^j}{k!} (\frac{\alpha}{\lambda})^k = \phi_j(\frac{\alpha}{\lambda}). \end{aligned} \tag{62}$$

Hence, by (13), (61), and (62), we get

$$LB_{n,\lambda}^{(r)}(\alpha) = \sum_{j=0}^n \sum_{k=j}^n L_{r,\lambda}(n, k) S_{1,\lambda}(k, j) \phi_{j,\lambda}(\alpha), \quad (n \geq 0). \tag{63}$$

We obtain the following theorem from (57), (60), and (63).

**Theorem 10.** *Assume that  $X$  is the Poisson random variable with parameter  $\frac{\alpha}{\lambda} (> 0)$ , for  $\lambda$  with  $0 < \lambda < 1$ .*

$$\begin{aligned} E[\langle X \lambda \rangle_{n,\lambda}] &= B_{n,\lambda}^L(\alpha), \quad LB_{n,\lambda}^{(r)}(\alpha) = E[\langle \lambda X + r \rangle_{n,\lambda}] \\ &= \sum_{j=0}^n \sum_{k=j}^n L_{r,\lambda}(n, k) S_{1,\lambda}(k, j) \phi_{j,\lambda}(\alpha), \quad (n \geq 0). \end{aligned}$$

### 4. Conclusion

The degenerate versions arise when we replace the powers of  $x$  by the generalized falling factorial polynomials  $(x)_{k,\lambda}$  in the defining equations, whereas the  $\lambda$ -analogues appear when we replace the falling factorials  $(x)_k$  by the generalized falling factorials.

In this paper, as  $\lambda$ - analogues of the Lah numbers and Lah-Bell polynomials, we studied the  $\lambda$ -analogues of Lah numbers  $L_\lambda(n, k)$  and Lah-Bell polynomials  $B_{n,\lambda}^L(x)$ . For those numbers and polynomials, we investigated some properties, explicit expressions, generating functions and Dobinski-like formulas. We also considered the more general  $\lambda$ -analogues of  $r$ -Lah numbers  $L_{r,\lambda}(n, k)$  and  $r$ -extended  $\lambda$ -Lah-Bell polynomials  $LB_{n,\lambda}^{(r)}(x)$  and similar results to  $L_\lambda(n, k)$  and  $B_{n,\lambda}^L(x)$  were derived. In addition, we showed the expectation of one random variable and that of another random variable, both related to the Poisson random variable with parameter  $\frac{\alpha}{\lambda}$ , are respectively equal to  $B_{n,\lambda}^L(\alpha)$  and  $LB_{n,\lambda}^{(r)}(\alpha)$ .

As one of our future research projects, we would like to continue to explore  $\lambda$ -analogues of some special numbers and polynomials and their applications to physics, science and engineering as well as to mathematics.

### Acknowledgements

We would like to thank Jangjeon Institute for Mathematical Science for its support during the preparation of this paper.

### Conflict of interest

The authors declare that they have no competing interests in this paper.

### References

- [1] S. Araci, M. Acikgoz, A note on the Frobenius-Euler numbers and polynomials associated with Bernstein polynomials, *Adv. Stud. Contemp. Math., Kyungshang*, **22** (2012), No. 3, 399-406 .
- [2] M. S. Aydin, M. Acikgoz, S. A. Araci, New construction on the degenerate Hurwitz-zeta function associated with certain applications, *Proc. Jangjeon Math. Soc.*, **25** (2022), No. 2, 195-203.
- [3] K. Boubellouta, A. Boussayoud, S. Araci, M. Kerada, Some theorems on generating functions and their applications, *Adv. Stud. Contemp. Math., Kyungshang*, **30** (2020), No. 3, 307-324 .
- [4] L. Carlitz, Weighted Stirling numbers of the first and second kind I, *Fibonacci Quart.*, **18** (1980), no. 2, 147-162.
- [5] L. Comtet, *Advanced combinatorics: The Art of Finite and Infinite Expansions*, New York: American Mathematical Society, 1974. <https://doi.org/10.2307/2005450>
- [6] S. K. Ghosal, S. Mukhopadhyay, S. Hossain, R. Sarkar, Application of Lah transform for security and privacy of data through information hiding in telecommunication, *T. on Emerg. Telecommun. T.*, **32** (2020), no. 2, e3984. <https://doi:10.1002/ett.3984>
- [7] D. Gun, Y. Simsek, Combinatorial sums involving Stirling, Fubini, Bernoulli numbers and approximate values of Catalan numbers, *Adv. Stud. Contemp. Math., Kyungshang*, **30** (2020), no. 4, 503-513.
- [8] L. C. Hsu, P. J.-S. Shiue, A unified approach to generalized Stirling numbers, *Adv. Appl. Math.*, **20** (1998), no. 3, 366-384. <https://doi.org/10.1006/aama.1998.0586>
- [9] B. M. Kim, Y. Kim, J.-W. Park, On the reciprocal degenerate Lah-Bell polynomials and numbers, *Adv. Stud. Contemp. Math., Kyungshang*, **32**, No. 1, 63-70 (2022).
- [10] D. S. Kim, H. K. Kim, T. Kim, Some identities on  $\lambda$ -analogues of  $r$ -Stirling numbers of the second kind, *Eur. J. Pure Appl. Math.*, **15** (2022), no. 3, 1054-1066. <https://doi.org/10.29020/nybg.ejpam.v15i3.4441>



- [11] D. S. Kim, T. Kim, Normal Ordering Associated with  $\lambda$ -Whitney Numbers of the First Kind in  $\lambda$ -Shift Algebra, *Russ. J. Math. Phys.*, **30** (2023), no. 3, 310-319. <https://doi.org/10.1134/S1061920823030044>
- [12] D. S. Kim, T. Kim,  $r$ -extended Lah-Bell numbers and polynomials associated with  $r$ -Lah numbers, *Proc. Jangjeon Math. Soc.*, **24** (2021), no. 1, 1-10.
- [13] D. S. Kim, T. Kim, Degenerate Sheffer sequences and  $\lambda$ -Sheffer sequences, *J. Math. Anal. Appl.*, **493** (2021), no. 1, 124521. <https://doi.org/10.1016/j.jmaa.2020.124521>
- [14] T. Kim, D. S. Kim, Degenerate Laplace transform and degenerate gamma function, *Russ. J. Math. Phys.*, **24** (2017), 241–248. <https://doi.org/10.1134/S1061920817020091>
- [15] T. Kim, D. S. Kim, Combinatorial identities involving degenerate harmonic and hyperharmonic numbers, *Adv. Appl. Math.*, **148** (2023), Paper No. 102535. <https://doi.org/10.1016/j.aam.2023.102535>
- [16] T. Kim, D. S. Kim, D. V. Dolgy, J.-W. Park, Degenerate binomial and Poisson random variables associated with degenerate Lah-Bell polynomials, *Open Math.*, **19** (2021), no. 1, 1588-1597. <https://doi.org/10.1515/math-2021-0116>
- [17] T. Kim, D. S. Kim, H. K. Kim, Normal ordering associated with  $\lambda$ -Stirling numbers in  $\lambda$ -shift algebra, *Demonstr. Math.*, **56** (2023), no. 1, Paper No. 20220250. <https://doi.org/10.1515/dema-2022-0250>
- [18] T. Kim, D. S. Kim, H. Lee, J. Kwon, Representations by degenerate Daehee polynomials, *Open Math.*, **20** (2022), no. 1, 179–194.
- [19] T. Kim, D. S. Kim, D. V. Dolgy, H. K. Kim, H. Lee, A new approach to Bell and poly-Bell numbers and polynomials, *AIMS Math.*, **7** (2022), no. 3, 4004–4016.
- [20] T. Kim, D. S. Kim, Probabilistic degenerate Bell polynomials associated with random variables, *Russ. J. Math. Phys.*, **30** (2023), no. 4, 528–542.
- [21] T. Kim, D. S. Kim, Probabilistic Bernoulli and Euler polynomials, *Russ. J. Math. Phys.*, **31** (2024), no. 1, 94–105.
- [22] D. S. Kim, T. Kim, Stirling numbers associated with sequences of polynomials, *Appl. Comput. Math.*, **22** (2023), No. 1, 80–115.
- [23] T. Kim, D. S. Kim, Generalization of Spivey's Recurrence Relation, *Russ. J. Math. Phys.*, **31** (2024), no. 2, 218–226.
- [24] B. Kurt, Y. Simsek, On the Hermite base Genocchi polynomials, *Adv. Stud. Contemp. Math., Kyungshang*, **23** (2013), No. 1, 13-17 (2013).

- [25] L. Luo, Y. Ma, T. Kim, W. Liu, Some identities on truncated polynomials associated with Lah-Bell polynomials, *Appl. Math. Sci. Eng.*, **31** (2023), no. 1, 2245539. <https://doi.org/10.1080/27690911.2023.2245539>
- [26] M. M. Mangontarum, A. P. Macodi-Ringia, N. S. Abdulcarim, The translated Dowling polynomials and numbers, *Int. Sch. Res. Not.*, **2014** (2014), Article ID 678408. <https://doi.org/10.1155/2014/678408>
- [27] J.-W. Park, S.-S. Pyo, A note on degenerate Bernoulli polynomials arising from umbral calculus, *Adv. Stud. Contemp. Math., Kyungshang*, **32**(2022), No. 4, 509-525.
- [28] D. Popmintchev, S. Wang, X. Zhang, V. Stoev, T. Popmintchev, Analytical Lah-Laguerre optical formalism for perturbative chromatic dispersion, *Opti. Express* **30** (2022), no. 22/24, 40779-40808. <https://doi.org/10.1364/OE.457139>
- [29] D. Popmintchev, S. Wang, Z. Xiaoshi, V. Stoev, T. Popmintchev, Theory of the Chromatic Dispersion, Revisited, *arXiv:2011.00066 [physics.optics]*.
- [30] S. Roman, *The umbral calculus*, Berlin: Springer, 2005.
- [31] S. M. Ross, *Introduction to probability models*, 12th ed., London: Academic Press, 2019.
- [32] Y. Simsek, Identities and relations related to combinatorial numbers and polynomials, *Proc. Jangjeon Math. Soc.*, **20** (2017), No. 1, 127-135.